Class 9 Chapter 1 - Number Systems

Exercise 1.5

1. Find: G) 6412 (i) 321/ (iii) 12513
SOl. (L) 641/2 = (82)1/2 - (8)2 x 1/2 = 8.
(ii) 321/5 — (25)1/5 - (2)5 x 1/5 — 2_
(iii) 1251/8 — (53)1/3 — (5)3 x 1/3 = 5.
2. Find: @) 9%2 (i) 322/%  Gii) 16%*  (v) 125173,
Sol. (L) 93/2 (32)3/2 — (3)2 x 3/2 — (3)3 = 27.
(i) 392/5 _ (25)2/5 = 95x 25 _ (2)2 — 4.
(lu) 163/4 (24)3/4 (2)4 x 3/4 (2)3 = 8.

(v) (125) V3 = (53 18 = (5)3x 18 _ (51 = %
i 112
3. Simplify: @) 277 21% (i) (3_3J @)

(LU) 71/2 81/2
Sol. () 22/3 21/5 22/3+ 1/5 213/15

7
“ (3%) ) (3§)7 3 331x7 = 3_;1 =3 %
111/2
(lll) 111/4
Gv) 7V2 . 812 _ (7.8)12 = 5612,

& 111/2— 1/4 % 111/4.
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